PROJECT: LOCATION:	Sanitary Sewer Contract #65				1	2		3	
	Bulkley North, Old Road, Mallard La, Elizabeth Dr, Forest Dr, Shadowlawn Dr				Construction	Anthony Julian RR Const. Co.		M. Rondano, Inc.	
DATE:	February 13, 2015								
ENGINEER:	Ochman Associates								
ITEM#	DESCRIPTION OF ITEM	QUANTITY	UNIT	UNIT COST	ITEM TOTAL	UNIT COST	ITEM TOTAL	UNIT COST	ITEM TOTAL
1	Site Preparation	1	LS	\$40,000.00	\$40,000.00	\$75,000.00	\$75,000.00	\$90,000.00	\$90,000.00
2	Trafficmen	1	LS	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00
3	Trench Excavation - ROCK	1520	CY	\$5.00	\$7,600.00	\$55.00	\$83,600.00	\$1.00	\$1,520.00
4	Excavation Below Grade	50	CY	\$0.01	\$0.50	\$50.00	\$2,500.00	\$20.00	\$1,000.00
5	Additional Foundation Stone	50	CY	.01.01	\$0.00	\$50.00	\$2,500.00	\$30.00	\$1,500.00
6	Additional Gravel Fill	50	CY	\$0.01	\$0.50	\$50.00	\$2,500.00	\$10.00	\$500.00
7	Additional Process Aggregate Road Base	50	CY	\$20.00	\$1,000.00	\$50.00	\$2,500.00	\$20.00	\$1,000.00
8	Additional Borrow	1520	CY	\$0.01	\$15.20	\$25.00	\$38,000.00	\$0.01	\$15.20
9	Pavement Repair (Town Roads, Trench)	5700	SY	\$60.00	\$342,000.00	\$50.00	\$285,000.00	\$45.00	\$256,500.00
10	Gravel Repair (Shadowlawn Drive)	265	SY	\$10.00	\$2,650.00	\$15.00	\$3,975.00	\$10.00	\$2,650.00
11	Bit. Concrete Overlay Class II (1 1/2") (Private Roads)	400	TON	\$125.00	\$50,000.00	\$150.00	\$60,000.00	\$138.00	\$55,200.00
12	Bit. Concrete Lip Curbing	165	LF	\$10.00	\$1,650.00	\$10.00	\$1,650.00	\$6.00	\$990.00
13	Bit. Concrete Driveway Aprons	150	SY	\$55.00	\$8,250.00	\$40.00	\$6,000.00	\$35.00	\$5,250.00
14	8" PVC Sanitary Sewer 0'-8' Deep	2396	FT	\$102.00	\$244,392.00	\$80.00	\$191,680.00	\$115.00	\$275,540.00
15	8" PVC Sanitary Sewer 8'-12' Deep	5670	FT	\$118.00	\$669,060.00	\$100.00	\$567,000.00	\$120.00	\$680,400.00
16	8" PVC Sanitary Sewer 12'-16' Deep	515	FT	\$125.00	\$64,375.00	\$130.00	\$66,950.00	\$184.00	\$94,760.00
17	6" PVC Laterals	2531	FT	\$70.00	\$177,170.00	\$50.00	\$126,550.00	\$60.00	\$151,860.00
18	Sanitary Manhole - 48"Dia. 0'-8' Deep	117	VF	\$275.00	\$32,175.00	\$400.00	\$46,800.00	\$300.00	\$35,100.00
19	Sanitary Manhole - 48"Dia, 8'-12' Deep	292	VF	\$250.00	\$73,000.00	\$450.00	\$131,400.00	\$310.00	\$90,520.00
20	Sanitary Manhole - 48"Dia, 12'-16' Deep	37	VF	\$250.00	\$9,250.00	\$450.00	\$16,650.00	\$400.00	\$14,800.00
21	Class "A" Concrete	30	CY	\$160.00	\$4,800.00	\$200.00	\$6,000.00	\$250.00	\$7,500.00
22	Restoration	1	LS	\$25,000.00	\$25,000.00	\$75,000.00	\$75,000.00	\$26,000.00	\$26,000.00
23	Catch Basin	1	EA	\$3,000.00	\$3,000.00	\$3,500.00	\$3,500.00	\$2,200.00	\$2,200.00
24	12"RCP	48	LF	\$55.00	\$2,640.00	\$75.00	\$3,600.00	\$60.00	\$2,880.00
25	15"RCP	8	LF	\$60.00	\$480.00	\$100.00	\$800.00	\$65.00	\$520.00
26	Test Pits	2	CY	\$100.00	\$200.00	\$250.00	\$500.00	\$750.00	\$1,500.00
		BID TOTA	LS=		\$1,768,708.20		\$1,809,655.00		\$1,809,705.20

PROJECT: LOCATION:	Sanitary Sewer Contract #65 Bulkley North, Old Road, Mallard La,		4	5		6			
	Forest Dr, Shadowlawn Dr	J. Ia	apaluccio	Vaz QualityWorks		AJ Penna & Son			
DATE:	February 13, 2015								
ENGINEER:									
ITEM#	DESCRIPTION OF ITEM	QUANTITY	UNIT	UNIT COST	ITEM TOTAL	UNIT COST	ITEM TOTAL	UNIT COST	ITEM TOTAL
1	Site Preparation	1	LS	\$122,000.00	\$122,000.00	\$90,000.00	\$90,000.00	\$40,000.00	\$40,000.00
2	Trafficmen	1	LS	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00
3	Trench Excavation - ROCK	1520	CY	\$40.00	\$60,800.00	\$275.00	\$418,000.00	\$65.00	\$98,800.00
4	Excavation Below Grade	50	CY	\$24.00	\$1,200.00	\$25.00	\$1,250.00	\$22.75	\$1,137.50
5	Additional Foundation Stone	50	CY	\$40.00	\$2,000.00	\$50.00	\$2,500.00	\$31.75	\$1,587.50
6	Additional Gravel Fill	50	CY	\$26.00	\$1,300.00	\$40.00	\$2,000.00	\$31.75	\$1,587.50
7	Additional Process Aggregate Road Base	50	CY	\$26.00	\$1,300.00	\$40.00	\$2,000.00	\$31.75	\$1,587.50
8	Additional Borrow	1520	CY	\$1.00	\$1,520.00	\$14.00	\$21,280.00	\$26.75	\$40,660.00
9	Pavement Repair (Town Roads, Trench)	5700	SY	\$48.00	\$273,600.00	\$30.50	\$173,850.00	\$42.50	\$242,250.00
10	Gravel Repair (Shadowlawn Drive)	265	SY	\$11.00	\$2,915.00	\$10.00	\$2,650.00	\$8.50	\$2,252.50
11	Bit. Concrete Overlay Class II (1 1/2") (Private Roads)	400	TON	\$110.00	\$44,000.00	\$150.00	\$60,000.00	\$130.00	\$52,000.00
12	Bit. Concrete Lip Curbing	165	LF	\$10.00	\$1,650.00	\$18.00	\$2,970.00	\$8.15	\$1,344.75
13	Bit. Concrete Driveway Aprons	150	SY	\$30.00	\$4,500.00	\$40.00	\$6,000.00	\$47.00	\$7,050.00
14	8" PVC Sanitary Sewer 0'-8' Deep	2396	FT	\$98.00	\$234,808.00	\$73.00	\$174,908.00	\$128.00	\$306,688.00
15	8" PVC Sanitary Sewer 8'-12' Deep	5670	FT	\$107.00	\$606,690.00	\$85.00	\$481,950.00	\$132.00	\$748,440.00
16	8" PVC Sanitary Sewer 12'-16' Deep	515	FT	\$110.00	\$56,650.00	\$100.00	\$51,500.00	\$150.00	\$77,250.00
17	6" PVC Laterals	2531	FT	\$76.00	\$192,356.00	\$76.00	\$192,356.00	\$66.00	\$167,046.00
18	Sanitary Manhole - 48"Dia. 0'-8' Deep	117	VF	\$620.00	\$72,540.00	\$588.00	\$68,796.00	\$500.00	\$58,500.00
19	Sanitary Manhole - 48"Dia, 8'-12' Deep	292	VF	\$480.00	\$140,160.00	\$547.00	\$159,724.00	\$425.00	\$124,100.00
20	Sanitary Manhole - 48"Dia, 12'-16' Deep	37	VF	\$530.00	\$19,610.00	\$810.00	\$29,970.00	\$465.00	\$17,205.00
21	Class "A" Concrete	30	CY	\$1,100.00	\$33,000.00	\$225.00	\$6,750.00	\$185.00	\$5,550.00
22	Restoration	1	LS	\$60,000.00	\$60,000.00	\$15,000.00	\$15,000.00	\$51,800.00	\$51,800.00
23	Catch Basin	1	EA	\$2,200.00	\$2,200.00	\$1,900.00	\$1,900.00	\$2,500.00	\$2,500.00
24	12"RCP	48	LF	\$42.00	\$2,016.00	\$55.00	\$2,640.00	\$46.50	\$2,232.00
25	15"RCP	8	LF	\$73.00	\$584.00	\$82.00	\$656.00	\$65.00	\$520.00
26	Test Pits	2	CY	\$300.00	\$600.00	\$500.00	\$1,000.00	\$670.00	\$1,340.00
		BID TOTA	LS=		\$1,947,999.00		\$1,979,650.00		\$2,063,428.25

PROJECT:	Sanitary Sewer Contract #65		7	8		9				
LOCATION:	Bulkley North, Old Road, Mallard La, Elizabeth Dr,									
	Forest Dr, Shadowlawn Dr			Grasso Companies LLC		Complete Construction		Joken Development		
DATE:	February 13, 2015									
ENGINEER:										
ITEM #	DESCRIPTION OF ITEM	QUANTITY	UNIT	UNIT COST	ITEM TOTAL	UNIT COST	ITEM TOTAL	UNIT COST	ITEM TOTAL	
1	Site Preparation	1	LS	\$286,803.85	\$286,803.85	\$109,000.00	\$109,000.00	\$117,000.00	\$117,000.00	
2	Trafficmen	1	LS	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	
3	Trench Excavation - ROCK	1520	CY	\$91.68	\$139,353.60	\$1.00	\$1,520.00	\$75.00	\$114,000.00	
4	Excavation Below Grade	50	CY	\$12.07	\$603.50	\$5.00	\$250.00	\$75.00	\$3,750.00	
5	Additional Foundation Stone	50	CY	\$52.76	\$2,638.00	\$20.00	\$1,000.00	\$75.00	\$3,750.00	
6	Additional Gravel Fill	50	CY	\$52.76	\$2,638.00	\$15.00	\$750.00	\$75.00	\$3,750.00	
7	Additional Process Aggregate Road Base	50	CY	\$54.70	\$2,735.00	\$15.00	\$750.00	\$75.00	\$3,750.00	
8	Additional Borrow	1520	CY	\$0.01	\$15.20	\$1.00	\$1,520.00	\$10.00	\$15,200.00	
9	Pavement Repair (Town Roads, Trench)	5700	SY	\$30.03	\$171,171.00	\$50.00	\$285,000.00	\$60.68	\$345,876.00	
10	Gravel Repair (Shadowlawn Drive)	265	SY	\$18.81	\$4,984.65	\$17.00	\$4,505.00	\$10.11	\$2,679.15	
11	Bit. Concrete Overlay Class II (1 1/2") (Private Roads)	400	TON	\$108.75	\$43,500.00	\$150.00	\$60,000.00	\$139.87	\$55,948.00	
12	Bit. Concrete Lip Curbing	165	LF	\$4.29	\$707.85	\$10.00	\$1,650.00	\$14.48	\$2,389.20	
13	Bit. Concrete Driveway Aprons	150	SY	\$20.75	\$3,112.50	\$28.00	\$4,200.00	\$46.64	\$6,996.00	
14	8" PVC Sanitary Sewer 0'-8' Deep	2396	FT	\$114.63	\$274,653.48	\$150.00	\$359,400.00	\$123.86	\$296,768.56	
15	8" PVC Sanitary Sewer 8'-12' Deep	5670	FT	\$141.71	\$803,495.70	\$130.00	\$737,100.00	\$142.72	\$809,222.40	
16	8" PVC Sanitary Sewer 12'-16' Deep	515	FT	\$192.70	\$99,240.50	\$120.00	\$61,800.00	\$166.14	\$85,562.10	
17	6" PVC Laterals	2531	FT	\$50.61	\$128,093.91	\$98.00	\$248,038.00	\$107.15	\$271,196.65	
18	Sanitary Manhole - 48"Dia. 0'-8' Deep	117	VF	\$584.54	\$68,391.18	\$740.00	\$86,580.00	\$447.69	\$52,379.73	
19	Sanitary Manhole - 48"Dia, 8'-12' Deep	292	VF	\$517.28	\$151,045.76	\$725.00	\$211,700.00	\$448.81	\$131,052.52	
20	Sanitary Manhole - 48"Dia, 12'-16' Deep	37	VF	\$500.83	\$18,530.71	\$750.00	\$27,750.00	\$855.31	\$31,646.47	
21	Class "A" Concrete	30	CY	\$231.64	\$6,949.20	\$100.00	\$3,000.00	\$206.25	\$6,187.50	
22	Restoration	1	LS	\$31,509.44	\$31,509.44	\$110,000.00	\$110,000.00	\$16,644.30	\$16,644.30	
23	Catch Basin	1	EA	\$2,202.50	\$2,202.50	\$2,500.00	\$2,500.00	\$2,859.95	\$2,859.95	
24	12"RCP	48	LF	\$81.49	\$3,911.52	\$50.00	\$2,400.00	\$112.19	\$5,385.12	
25	15"RCP	8	LF	\$141.85	\$1,134.80	\$60.00	\$480.00	\$115.80	\$926.40	
26	Test Pits	2	CY	\$214.21	\$428.42	\$700.00	\$1,400.00	\$1,000.00	\$2,000.00	
	•	BID TOTA	LS=		\$2,257,850.27		\$2,332,293.00	\$2,396,920.05		

PROJECT:	Sanitary Sewer Contract #65		10				
LOCATION:	Bulkley North, Old Road, Mallard La,	Elizabeth 1					
	Forest Dr, Shadowlawn Dr		Coastline	e Construction	AVERAGE		
DATE:	February 13, 2015						
ENGINEER:	Ochman Associates						
ITEM #	DESCRIPTION OF ITEM	QUANTITY	QUANTITY UNIT		ITEM TOTAL	UNIT COST	ITEM TOTAL
\							
1	Site Preparation	1	LS	\$50,226.00	\$50,226.00	\$102,002.99	\$102,002.99
2	Trafficmen	1	LS	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00
3	Trench Excavation - ROCK	1520	CY	\$10.00	\$15,200.00	\$61.87	\$94,039.36
4	Excavation Below Grade	50	CY	\$100.00	\$5,000.00	\$33.38	\$1,669.15
5	Additional Foundation Stone	50	CY	\$100.00	\$5,000.00	\$44.95	\$2,247.55
6	Additional Gravel Fill	50	CY	\$100.00	\$5,000.00	\$40.05	\$2,002.60
7	Additional Process Aggregate Road Base	50	CY	\$100.00	\$5,000.00	\$43.25	\$2,162.25
8	Additional Borrow	1520	CY	\$20.00	\$30,400.00	\$9.78	\$14,862.56
9	Pavement Repair (Town Roads, Trench)	5700	SY	\$70.00	\$399,000.00	\$48.67	\$277,424.70
10	Gravel Repair (Shadowlawn Drive)	265	SY	\$20.00	\$5,300.00	\$13.04	\$3,456.13
11	Bit. Concrete Overlay Class II (1 1/2") (Private Roads)	400	TON	\$160.00	\$64,000.00	\$136.16	\$54,464.80
12	Bit. Concrete Lip Curbing	165	LF	\$20.00	\$3,300.00	\$11.09	\$1,830.18
13	Bit. Concrete Driveway Aprons	150	SY	\$100.00	\$15,000.00	\$44.24	\$6,635.85
14	8" PVC Sanitary Sewer 0'-8' Deep	2396	FT	\$175.00	\$419,300.00	\$115.95	\$277,813.80
15	8" PVC Sanitary Sewer 8'-12' Deep	5670	FT	\$215.00	\$1,219,050.00	\$129.14	\$732,240.81
16	8" PVC Sanitary Sewer 12'-16' Deep	515	FT	\$245.00	\$126,175.00	\$152.28	\$78,426.26
17	6" PVC Laterals	2531	FT	\$189.00	\$478,359.00	\$84.28	\$213,302.56
18	Sanitary Manhole - 48"Dia. 0'-8' Deep	117	VF	\$750.00	\$87,750.00	\$520.52	\$60,901.19
19	Sanitary Manhole - 48"Dia, 8'-12' Deep	292	VF	\$850.00	\$248,200.00	\$500.31	\$146,090.23
20	Sanitary Manhole - 48"Dia, 12'-16' Deep	37	VF	\$900.00	\$33,300.00	\$591.11	\$21,871.22
21	Class "A" Concrete	30	CY	\$200.00	\$6,000.00	\$285.79	\$8,573.67
22	Restoration	1	LS	\$10,000.00	\$10,000.00	\$42,095.37	\$42,095.37
23	Catch Basin	1	EA	\$10,000.00	\$10,000.00	\$3,286.25	\$3,286.25
24	12"RCP	48	LF	\$280.00	\$13,440.00	\$85.72	\$4,114.46
25	15"RCP	8	LF	\$500.00	\$4,000.00	\$126.27	\$1,010.12
26	Test Pits	2	CY	\$1,000.00	\$2,000.00	\$548.42	\$1,096.84
		BID TOTA	LS=		\$3,270,000.00		\$2,163,620.90